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Directions : The pie chart represents percentage wise distribution of total number of teachers in five different districts.
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The table represents ratio of number of primary school teachers and number of high school teachers.
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DISTRICT | PRIMARY SCHOOL TEACHERS:
HIGH SCHOOL TEACHERS
. '

Mote: Total number of teachers in a district = Number of primary school teachers + Number of high school teachers
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TOTAL NUMBER OF TEACHERS IN ALL THE
FIVE DISTRICTS = 4800
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Find the respective ratio of number of primary school teachers in district A and number of high
school teachers in district D
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A. 3:5
B. 9:7
C. 7:5

D. 5:7 TOTAL NUMBER OF TEACHERS IN ALL THE
FIVE DISTRICTS = 4800
E. None of these
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Out of the total number of teachers in district C, ratio of males and females is 7:5 respectively.
Out of the male teachers in district C, 45% are primary school teachers. Find the number of
female Erimary school teachers in district C.
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A. 500

TOTAL NUMBER OF TEACHERS IN ALL THE

B. 600 FIVE DISTRICTS = 4800

C. 700
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Number of high school teachers in district A is what percent of total number of teachers in
district D?
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61.5%
62.5%
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None of these

TOTAL NUMBER OF TEACHERS IN ALL THE
FIVE DISTRICTS = 4800

DISTRICT | PRIMARY SCHOOL
TEACHERS: HIGH

SEHU"‘JI. TEACHERS

5 3
57
3:5
3:2




Number of primary school teachers in district B is approximately what percent more than the

number of primary school teachers in school E?
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A. 70.25%
B. 50.25%
C. 72.25% TOTAL NUMBER OF TEACHERS IN ALL THE
D. 56.25% FIVE DISTRICTS = 4800
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Number of mobile phone M.l sold in Pune is what percent of the number of mobile phone

VIVO sold in Mumbai?
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a) 70%
b) 75%
‘) 30%

35%
d) 0%




Find the respective ratio of number of mobile phone SAMSUNG sold in Mumbai and number of

I'T'I'DhllE hone M.l sold in Delhi.
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Find the total number of all mobile phone sold in Chennai.
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a) 1430 Gia .
b) 1300 8)10) %
1350
1400
d) 1600
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Find the difference between number of Samsung mobile phone sold in Delhi and
number of Vivo mobile phone sold in Pune.
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Number of VIVO mobile phone sold in Bangalore is what percent more than the
number of M.l mobile phone sold in the same city?
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A does half as much work as B in one sixth of the

time. If together they take 10 days to complete a work,
how much time shall B take to do it alone?
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(1) 70 days / T (2) 30 days / T
(3) 40 days / IES| (4) 50 days / &




A leak in the bottom of a tank can empty the full tank
In 6 hours. An inlet pipe fills water at the rate of 4
litres a minute. When the tank is full, the inlet is
opened and due to the leak the tank is empty in 8
hours. Find the capacity of the tank.
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(1) 5760 litres / TlX (2) 96 litres / Tt

(3) 10 litres / X (4) 24 litres / T




The average salary, per head, of all the workers of an
institution is ¥ 60. The average salary of 12 officers
Is ¥ 400; the average salary, per head, of the rest is
R 56. The total number of workers in the institution is
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(1) 1030 (2) 1035  (3) 1020  (4) 1032




A man spends ¥ 1800 monthly on an average for
the first four months and ¥ 2000 monthly for the

next eight months and saves ¥ 5600 a year. His
average monthly income is
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(1) $2000 (2)F 2200 (3) T 2400 (4) T 2600




The average of 11 numbers is 63. If the average of
first six numbers is 60 and the last six numbers is
65, then the 6th number is
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(1) 57 (2) 60 (3) 62 (4) 64







